td .Ts'bisﬁﬁdﬁf " - . Last updated: 06/12/2023

1

VENTURA RS — DOORSHAFT SERVICE KIT . P/N: KIT605

TYPICAL LH DOORSHAFT AS SHOWN, RH OPPOSITE HAND

@\@

-—@Spacers Lg= 14mm
© @kg@
O

Viewed from inside vehicle.

KIT COMPONENT PARTS
# THIS IS A SINGLE DOORSHAFT KIT

(1) J593 = LEVER BLOCK (7) 5255 = END STOP ASSY (M8x35) x 1

(2) H750 = GUIDE ROLLER ASSY x 3
@26x10 (bearing @22x6x10 bore)

(8) B666 = M8x25 FIXING BOLT x 1

(3) B486 = M10x30 FIXING BOLT x 2 (9) A808 = M8 NUT (To go with S255) x 1

(5) B689 = DOORSHAFT BEARING BUSH x 2 (11) D870 = M8 LOCKING DISK x 1

(6) G968 = ROLLER SPACER BUSH x 3
@16 x 10 borex 14 Lg

(12) C625-0.5ML = LOCTITE 243 THREADLOCKER

Supplied in a 0.5ml Vial /
for retaining items 3, 4, & 10

(4) 1977 = M10x45 FIXING BOLT x 1 / (10) A762 = M10 NUT (To go with J977) x 1
d

NOTE. SERVICE KIT IS USED FOR RS (RAPID SLIDERS) DOORSHAFTS SUB ASSEMBLIES LISTED BELOW:
M375 =LH BLUEBIRD 2009> RHD ORION.

M375 =LH MELLORS 2016> RHD ORION, STRATA, TUCANA.

VB1998 =RH MELLOR 2017. LHD ORION, STRATA.

VA3562 =RH WRIGHTS 2014> RHD NBFL (NRM).

IF IN DOUBT ON PART SELECTION - PLEASE CONTACT US WITH DETAILS FROM THE DOOR LABEL ATTACHED TO TOP OF LEAF > YyENTURA B
oo o 220123456

Customer PN 123.456.789
Ventura PPNVDEG9S

T-01787 473000, F—-01787 477040
E - sales@transportdoorsolutions.co.uk Copyright © 2023 Transport Door Solutions Ltd. All Rights Reserved ISSUE:1



td .Ts'bisﬁﬁdﬁf " - . Last updated: 06/12/2023

1

VENTURA RS — DOORSHAFT SERVICE KIT . P/N: KIT605

TYPICAL LH DOORSHAFT AS SHOWN, RH OPPOSITE HAND

@\@

-—@Spacers Lg= 14mm
© @kg@
O

Viewed from inside vehicle.

KIT COMPONENT PARTS
# THIS IS A SINGLE DOORSHAFT KIT

(1) J593 = LEVER BLOCK (7) 5255 = END STOP ASSY (M8x35) x 1

(2) H750 = GUIDE ROLLER ASSY x 3
@26x10 (bearing @22x6x10 bore)

(8) B666 = M8x25 FIXING BOLT x 1

(3) B486 = M10x30 FIXING BOLT x 2 (9) A808 = M8 NUT (To go with S255) x 1

(5) B689 = DOORSHAFT BEARING BUSH x 2 (11) D870 = M8 LOCKING DISK x 1

(6) G968 = ROLLER SPACER BUSH x 3
@16 x 10 borex 14 Lg

(12) C625-0.5ML = LOCTITE 243 THREADLOCKER

Supplied in a 0.5ml Vial /
for retaining items 3, 4, & 10

(4) 1977 = M10x45 FIXING BOLT x 1 / (10) A762 = M10 NUT (To go with J977) x 1
d

NOTE. SERVICE KIT IS USED FOR RS (RAPID SLIDERS) DOORSHAFTS SUB ASSEMBLIES LISTED BELOW:
M375 =LH BLUEBIRD 2009> RHD ORION.

M375 =LH MELLORS 2016> RHD ORION, STRATA, TUCANA.

VB1998 =RH MELLOR 2017. LHD ORION, STRATA.

VA3562 =RH WRIGHTS 2014> RHD NBFL (NRM).

IF IN DOUBT ON PART SELECTION - PLEASE CONTACT US WITH DETAILS FROM THE DOOR LABEL ATTACHED TO TOP OF LEAF > YyENTURA B
oo o 220123456

Customer PN 123.456.789
Ventura PPNVDEG9S

T-01787 473000, F—-01787 477040
E - sales@transportdoorsolutions.co.uk Copyright © 2023 Transport Door Solutions Ltd. All Rights Reserved ISSUE:1



